[ Efficiency vs vertpos |
-~ 0.5

2 | IR Lplglah 111
o W 4
S I -+
= [l
o] 1[4 [+
o 1
1 - A -+
+
+11
+| [

HE3

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

Effici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
iclend _, DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

N 0.2r
R 1 T S T S
[ C . . . . .
20.16F -+ A | REEIEEEEEED o | R ERRREERE
> r . . . . .
2 E | : : :
014 N | I N | N .
(&) L . . . . .
£0.12F--- et AR |1 | ER
o E : : : : :
0.0 B A
0.08f -+ A
0.06F -+ 2
0.04F 1|} AL
0.02ft- 14 -4 \
.Quof----!-- N
T r i
o C
11 ettt AH TR et
0.95L : ; ; :
=30 -20 -10 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1 - " " T T T T
> R ST T SO R
Q- 0.09F -+ +femrrrieeees R prety A e
€ : : : : : :
7R R Rt S S Sl M A
20.07f b frovder b e
P : : : : : :
U e e LA S SE S S S
R T
S : : : : : :
S0.05F b |prrdoed bl
o : : : : :
0.04
0.03
0.02

Y SR SO S S 2

80 =15 -10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


